
姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

负数指数加减乘除

(−6) + (−6) =2 1 − (−1) =(−1)

4 − 7 =(−1) (−4) + 6 =(−2)

2 + 8 = 7 − 6 =(−1)

10 + (−7) =(−2) 1 − 5 =

4 + 2 =(−2) 6 + (−1) =(−2)

9 − 2 =2 9 − 5 =2

10 + (−9) =2 (−3) − (−10) =(−1)

10 + (−1) =2 4 − 8 =2

(−5) − (−3) =0 (−2) + 2 =2

1 − (−10) =(−2) 8 − (−3) =2
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姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

负数指数加减乘除

(−6) + (−6) = 302 1 − (−1) = 2(−1)

4 − 7 = (− ) = (−6 )(−1)

4
27

4
3

(−4) + 6 = = 6(−2)

16
97

16
1

2 + 8 = 10 7 − 6 = (− ) = (−5 )(−1)

7
41

7
6

10 + (−7) = (− ) = (−6 )(−2)

100
699

100
99

1 − 5 = (−4)

4 + 2 = = 2(−2)

16
33

16
1

6 + (−1) = (− )(−2)

36
35

9 − 2 = 792 9 − 5 = 762

10 + (−9) = 912 (−3) − (−10) = = 9(−1)

3
29

3
2

10 + (−1) = 992 4 − 8 = 82

(−5) − (−3) = 40 (−2) + 2 = 62

1 − (−10) = 11(−2) 8 − (−3) = 672
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